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10 Problems in Simplifying Expressions Enclosed by Grouping Punctuation
PROBLEMS
Perform the indicated operations so that no parentheses, brackets, or braces remain.

1. a—[b+ (c—d)].

2.a—[b—(c—4d)].

3.a—-[b—c—(d-e)].

4. 2a—[b— (a — 2Db)].

5 3a—[b+ (2a—->b)—(a—Db)].



6. 7a — {3a — [4a — (5a — 2a)]}.

7. (bx+4)—(4x—2)—(—x—1).

8 5x?2+x+4)+ (—x?+2x+4)+ (—14x> —x + 6).

9. =7n?>—[3n? - (—n?-n+4)].

10. —(3n? -2n+4) —[2n? - (n®* +n +3)].

ANSWERS
l.a—-b—c+d 2.a—b+c—d
d.a—-b+c+d-—e 4, 3a—3b
5 2a-» 6. 5a
7. 3x+7 8. —10x%2 + 2x + 14
9. —11n?—n+4 10. —4n?+3n-1

“Only he who never plays, never loses.”
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